Precalc Day 8/9
Sec 1.4 Linear Functions

Alternative Forms for the Equation of a Line

1. The slope-intercept formis y = b + m x where m is the slope and b is the y-
intercept. j s il

2. The point-slope formisy - y =m(x-x ) where m is the slope and (x T )isa
point on the line. ‘ :j j' m(%-x,)

3. The standard form is Ax + By + C = 0 where A, B, and C are constants.

Finding a Formula for a Linear Function from a Table of Data

Ex. The following table gives data from a linear function. Find a formula for the
function.
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Finding a Formula for a Linear Function from a Graph

Ex. The graph gives data from a linear function. Find a formula for the function.
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Finding a Formula for a Linear Function from a Verbal Description

Ex. We have $24 to spend on soda and chips for a party. A six-pagk of soda costs $3 and
a bag of chips costs $2. The number of six-packs we can afford, y, is a function of the
number of bags of chips we decide to buy, x. Find an equation relating x and y. Then
graph your equation. Once your have graphed the equation, interpret the intercepts and
the slope in context of the party.
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Ex. Open your textbooks to page 32. Look at and read example 4. Write down 2 ideas
for when you may use point-slope form instead of slope —intercept form. Which form do

you think is more beneficial to use? Why?
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HW: pg 33-36 #1-23 (outside of class), #24-53 in class



